
Year 6 – Spring Block 4 – Punctuation 2

Main input before tasks

Step 1: Identifying Clauses
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Introduction

The main clause is underlined in the sentence below.

Explain how you know that this is the main clause.

Beyond the trees, far into the distance, rose the snow-

capped hills of the Pennines.
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Introduction

The main clause is underlined in the sentence below.

Explain how you know that this is the main clause.

Beyond the trees, far into the distance, rose the snow-

capped hills of the Pennines.

The clause makes sense on its own which means that it is a main 

clause.
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Varied Fluency 1

Underline the main clause in the sentence below.

Leila’s grandfather, who fought in Germany during the 

Second World War, had walked with a limp ever since.
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Varied Fluency 1

Underline the main clause in the sentence below.

Leila’s grandfather, who fought in Germany during the 

Second World War, had walked with a limp ever since.
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Varied Fluency 2

Add a pair of commas to the sentence below to separate the main 

and subordinate clause. 

The garden which was in full bloom was being enjoyed 

by the family at the BBQ.
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Varied Fluency 2

Add a pair of commas to the sentence below to separate the main 

and subordinate clause. 

The garden, which was in full bloom, was being enjoyed 

by the family at the BBQ.
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Varied Fluency 3

In which sentence is the subordinate clause underlined?

A. Even though the snow was falling and it was getting 

heavier by the minute, the children managed to get to 

school on time.

B. Even though the snow was falling and it was getting 

heavier by the minute, the children managed to get to 

school on time.
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Varied Fluency 3

In which sentence is the subordinate clause underlined?

A. Even though the snow was falling and it was getting 

heavier by the minute, the children managed to get to 

school on time.

B. Even though the snow was falling and it was getting 

heavier by the minute, the children managed to get to 

school on time.
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Varied Fluency 4 

Tick the correct box to show whether the underlined clause is a 

main (M) or subordinate (S) clause.

M S

As the wind whistled through the trees, the 

group decided it was time to head home.

As the weather was getting better, the 

children were allowed to play on the field.
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Varied Fluency 4 

Tick the correct box to show whether the underlined clause is a 

main (M) or subordinate (S) clause.

M S





As the wind whistled through the trees, the 

group decided it was time to head home.

As the weather was getting better, the 

children were allowed to play on the field.
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Application 1

Complete the sentence by adding a main clause before the 

subordinate clause. 

____________________ despite the weather being 

horrendous.
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Application 1

Complete the sentence by adding a main clause before the 

subordinate clause. 

____________________ despite the weather being 

horrendous.

Various answers, for example: 

The match went ahead as planned, despite the weather being 

horrendous.
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Application 2

Add a subordinate clause to the sentence below. 

Begin your subordinate clause with a relative pronoun.

Class 6, _____________________ , were asked to calm 

down by their teacher.
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Application 2

Add a subordinate clause to the sentence below. 

Begin your subordinate clause with a relative pronoun.

Class 6, _____________________ , were asked to calm 

down by their teacher.

Various answers, for example: 

Class 6, who were being very noisy, were asked to calm down by 

their teacher.
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Reasoning 1

Harkan thinks he has underlined the subordinate clause in the 

sentence below. 

After his visit to the dentist, James became more 

conscious of how much sugar he was 

consuming.

Is he correct? Explain how you know. 
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Reasoning 1

Harkan thinks he has underlined the subordinate clause in the 

sentence below. 

After his visit to the dentist, James became more 

conscious of how much sugar he was 

consuming.

Is he correct? Explain how you know. 

No, he is not correct because…
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Reasoning 1

Harkan thinks he has underlined the subordinate clause in the 

sentence below. 

After his visit to the dentist, James became more 

conscious of how much sugar he was 

consuming.

Is he correct? Explain how you know. 

No, he is not correct because the subordinate clause is ‘After his visit 

to the dentist’ which does not make sense on its own. The underlined 

part of the sentence is a main clause, which makes sense on its 
own.
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Tasks: 

• 1* Complete D sheet for both tasks.

• 2* Complete E sheet for both tasks.

• 3* Complete GD sheet for both tasks.

• ANSWERS CAN BE FOUND ON OTHER 

• TASK SJEETS


